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B [119]
GUug - A / SECTION - A
TS AT / Objective Type Questions
TV QT 17 70 q% & gedw 9T & @y 9% fwew [y 7y & frad @ vE @@ e
AT FRT 7 TG Wt freT F OMR vz W Rl FY 1 Fewel 35 wEAT #T I
35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

L. - 981 U1 O e w

(A) & @) _-Fermsd

©) =& (D). TR T

Pusa shubhra is a variety of

(A) Wheat (B) Cauliflower
©) Chilli y (D) Cabbage

2. T Frsee & il o1 S fRES §RT a1 S § 2
(A) uﬁzrr | (B)  WARIGUT

() i TEH | (D) (A) R (B) I

Provduction of plant without fertilization is done by

A) Grafting (B) Transplantation

(C)  Vegetative propagation (D) Both (A) and (B)

| E |— 3010-(55/60)
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[119]

greeted gaelarT St fo ua ewreiue A &, Sa e ¥

(A) 7 REF (B) 14 TUTHA

©) 30 ToTgA (D) 42 70TgA
Triticum aestivum which is a hexaploid wheat possesses

(A) 7 chromosomes (B) 14 chromosomes
(©) 30 chromosomes (D) 42 chromosomes
¥RR ¥ TS ST #r we ¥

(A) =TS wAeET (B) — fermiaew

(C) iResiamEed (D) 3RepaReT

The site of production of ADA in the body is

(A) Blood plasma (B) Lymphocytes

(C)  Osteocytes (D) Erythrocytes

a-1 Q’Zﬁ'i:g:fEHTf %

(A)  Ush USIEH

(B) ﬂﬁ;’m%W%WWM%
() U uzrds

(D) W%W%ﬁﬂﬁmm%

| E l— 3010-(ss/60)
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[119]
a-1 antitrypsin is

(A} An enzyme (B)  Used to treat arthritis

(C)  An antacid (D)

RS e fory v &

Used to treat emphysema

(A)  Hiah HF F IARA & forw

(B) %maﬁ’r‘mmaﬁﬁtr@%%q

() Wﬁﬁhﬁ%ﬁsﬁw%%{q-

(D) TR FoRel & SyaNT$ fou

Hybridomas are employed for
(A) Production of somatic hybrids
(B) Killing cancer cells

(&) Synthesis of antibiotics

(D) Synthesis of monoclonal antibodies

fAmfcifad & @ -1 HEH Seas 1ar § 2

(A) UF & Ed (B) U

© & D) = wh
Which of the following releases methane ?

(A) Rice fields (B) Cattle

(C)  Termites (D)

All of these

| E |— 3010-(ss/60)
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10.

[119]

=fadeTeh 31t fobg TSR gRT @fUed BT € 2
(A) TR (B)
(©) WS (D) IS

Nucleic acid is fragmented by which enzyme ?
(A) Polymerases (B) Nucleases

(C) Proteases (D) - Ligases

T S B, TGS % TG a7 gl & el siiYe e i
(A) SIS 3 (B)  3THHST 37
(C)  TaehTEangr ofi (D)~ I HE S

Human hand, wing of bat and flipper of whale represent
(A) Vestigial organs ' (B) Analogous organs

(C) Evolutionary organs (D) Homologous organs

PCR IS 3 A I G @ S % S %) e 4 seenh &

(a) =TT B) TR
()  Tadeter / Mgk | (D) SEeTHERoT

During PCR technique the pairing primers to ss DNA segment is called

(A) Isolation (B) Annealing

(C) Denaturation (D) Polymerization

E |- 3010—(55/60) Page 6 of 32
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13.

fifea 8 @ 899 rpT qe JE © 2

(A)  Haww (B)
(C)  wiqey demey (D)
Which of the following is not a tool of RDT ?
(A) Vector (B)
Q) Restriction enzyme (D)
S TTGENST U e gl &

A)  9HT FFEIeHET A : B)
(C) ZIEHISH Tl | (D)
Enzyme Taq polymerase is obtained from
(A) Thermus aquaticus (B)
(C)  Trichoderma aquatic (D)

%ﬂwﬁwaaé'mw%

[ 119 ]

EGA?

YA Usigy

Introns

Polymerase enzyme

TR T SEHaad |

(A) 3R (C) gl

Agrobacterium tumefaciens

Both (A) and (C)

A) 7 HE H (B) 7 3Tt

World Health Day is celebrated every year on

(A) 7th March (B} 7th April

©) 7th May (D) 7th July
[(E]- 3010-(ss/60) |
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15.

16.

(A)  TEASAF & (B)
(€  ufrafics sa (D) |

Amniocentesis involves the analysis of

(A) Amnion (B)
(C) Amniotic fluid (D)
(A)  GIRGTERIGTE. % T (B) -
(C) eI & A= (D)
Azolla forms symbiotic relationship with

" (A)  Azospirillum (B)
(C)  Rhizobium (D)
(A) TG IR I B)

() UemrEelad e faue (D)

Tapetal cells show

(A)  Mitosis cell division (B)
(C)  Endomitosis cell division (D)
E [-]3010-(s5/60)

[119]

P & STHAT 3T

(A) 3R (B) AT T

Amino acids of protein

Both (A) and (B)

gFIEAT & A

FieTE &A1

Anabaena

' Nostoc

IS iR Ty

Meiosis cell division

Endomitosis and Polyploidy
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18.

19.

[119]
THEISAIV] HT IR § R AT & 2

(A) RSSO (B) I
(C)  TBEI] (D) SIS

What is formed from megaspore mother cell ?
(A) Megasporangium (B) Chalaza

(C)  Megaspore (D)  Microspore

H1eT S o 7 Wk g g, ®

() SR - (B) T
€ (a) ¥R (B) I 3 | IOLY T

The oestrous cycle possessed by female animal is

(A)  Monkey (B). Humans

(C)  Both (A) and (B) (D) Cow

T Y1) % UshTEIE ST 10T g &

()  FEH R (B) wIEERIN gRT

(€) el FAERT (D) 3iaugel sferet gRT
Acrosome of human sperm is formed from

(A)  Nucleus ' (B)  Lysosome

(C) Golgi body (D) Endoplasmic reticulum

E |-]13010-(ss760)
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[119]

gy T SO T AT g §
A)  UfrsE gr B) T AN
©)  HINSHA grI (D)  HIRS T TeA=eiTd g

The placenta in humans is formed by
(A)  Amnion (B) Allantois

(C)  Chorion (D)  Chorion and Allantois

gsiia Gl H TR e w1 i s faaee @ @ w2

(A)  FIGF RIS (Bf — CTHSISH]
(C) S IR (D)~ CAESISTIY] W ehifreht
In angiospermic plants, male gamete is formed by the division of
(A) Vegetative cell (B) Microspore
(C)  Generative cell (D)  Microspore mother cell
FefeiEd § @ ®H THIYE & AR H YERid g )
(A)  HTEeT (B) Rgem
)  FHA (D) =RIfgR
Which of the following implants in the lining of uterus ?
(A) Morula (B) Gastrula
(C)  Zygote (D)  Blastocyst
E |-13010-ss/60) Page 10 of 32
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25,

arE T et e ¥

(A) TRt A @) UfEsies TET T
€ PHEE T A (D) SerEe T A

Human embryo is protected in

(A)  Allantois (B)  Amniotic cavity

(C) Pleural cavity (D) Peritoneal cavity

WIS & faehd A feEes gry W S ¥ 2
(A) WS fafetor gr

(B) A Al /w2 gr

(€)  vaEte sAufrar gr

(D) Ut feaiea / el efern gu

Age of evolution of man i measured by

(A) UV-radiation (B) Carbon dating
(C)  Chemical reaction (D)  Radioactive dating
TRHIER &

A)  Sifed qdgya B) faea wg

€  ovfen Wiy . D) foem IwaeR
Dinosaurs are

(A) Living reptiles (B)  Extinct reptiles

(C)  Primitive reptiles (D)  Extinct amphibians

[119 ]
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2,

[ 119}
UAAIEH T S ST &
(A)  FMIRE qqr sy et & e
(B)  IUFWRI TN AZHIZH F1 e
(€) ¥l ur gigdt 1 Fie
(D) QOGH T g 7 e
Cocnozoic cra is known as
(A) Age of Mammals and Modern flora
(B) Age of Amphibians and lycopods
(C) Age of Mammals and Reptiles
(D) Age of Reptilés and Gymnospérms§
HRUAU F AN SUAT G4 ¢ 39 Fgd
(A)  o-Sluu (BT - gt
(C)  EEINGT SR (D)  ¥-Tuau
DNA formed from RNA is called
(A) B-DNA (B) Z-DNA
(C) rRNA (D) c¢DNA
YAl S el Alshan & feu sneavas deey ¢
@A) Ul B)  ARTAT Grefmyry
b | ~
© e (D) T diethie
\
E |-]3010-(ss5/60) T T———
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29.

30.

31.

Enzyme required for polymerase chain reaction is

(A) Endonuclease

) Ribonuclease

T H A TeI0T T IIEI0T ©
(A) STl & T

(C) T F IMHR

An example of quantitative trait in human is

(A) Hair colour

(@ Shape of nose

TS S & oy &ai & Fer ST &
(A) - IXe S
(C)  ERH SAH

Different forms of a gene are called
(A) Complementary genes

(®)] Supplementary genes

T 3 e & - S A

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

RNA polymerase

Taq polymerase

Skin colour

Colour of eyes

B

TS sy

Allele

Heterozygote

AeFq
s

[119]
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S2.

33.

34.

[119 |

Which type of protein is found in silk thread ?

(A) Fibroin : (B) Albumin

(C)  Keratin (D)  Fibrinogen
G e 1T, X o1 AT frget e € 2

(A) ey . (B) Heehl

© . (D) HUH

Shakti, Rattan and Protina afe lysine rich varieties of

(A)  Rice 7 B)  Maize

(C)  Wheat (D)~ Cotton
TIITIE eI e &

(A)  HIER (B) | SER

© PR @) (A) AR (C) I
Penicillium produf:es
(A) °~ Mitospores (B) Zoospores
(C)  Meiospores , (D) Both (A) and €
() R e 3 B
(C) ‘g,’gr?“ AL el J ' (D) 3\qq;r{ e

E |-13010-(s5/60) \_
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35.

36.

37.

Fertilization is internal in

(A)  Star fishes (B)
(C)  Bony fishes (D)
ferfrerar 1 g & &

(A) TG e (B)
(©) 3Tl fersrom (D)
Main source of variation is

(A) Mitosis division (B)
Q) Meiosis division (D)
HII-21 T T FT ¢ 2

(A) . AT TAHTOT i ekl (B)
() = =l (D)
What is the function of copper-T ?

(A) Stops zygote formation (B)
(C) Stops fertilization (D)

ST e FifeRa o fores R e € 2

(A) eUerEicd-A
(C) ZEFET

®)

(D)

[119]

Sharks

Amphibians

Mutation

Fertilization

THYROT ] ekl &

AR i AT AT

Stops conception-

Checks mutation

et fro
el fomey

—e e

[ E ]-[3010-ss/60)
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38.

39.

[119]
Genital warts spread by which of the following ?
(A) Hepatitis-A (B) Herpes Virus

(@) Trichomonas

@WWWWWW%

(D)  Papilloma Virus

(A) AT G w5
(B) qﬁ@#@qﬁa@wé@mm

(C) ST AT FT oo

(D) W 9 gt &

DNA recombinant technology uses
(A) Cloning vector

(B)

Restriction endonuclease and DNA ligase

Q) Gel Electrophoresis

(D) All of these

ST aﬁwﬁwvﬁamaﬁﬁmm%fmwﬁamw%?

(A) | HSRIA B) ¥

© T D) it

Genetically engineered bacteria are being employed for Production of
(A Progestercne (B) Insulin

@ Eatrogen (D) Thyroxine

LE |— 3010-s8/60)| = ————
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40.

41.

42.

[119]
ﬁq-grgamgﬁw%@ﬁémwa@ﬁvmm%?

(A)  HIETS B) BAC

() wiicHe (D)  YAC

Which vector can clone only a small fragment of DNA ?
(A)  Cosmid (B) BAC

(C)  Plasmid (D) YAC

| Freiteg § @ ST WoeE USTed s X Seaned T § 2

(A) Sall (B) ~EcoRV

© Hindm [ oo D) ~Xho1

Which of the following restriction enzymes produces blunt ends ?
(A) Sall (B) .. Eco RV

(C) Hind III (D) Xho

Frpifera & @ -1 St el % TR TR T T ¥ 2
(A) IFTEafde U - (B) WRa wg Hued

(C)  ufed IUeH (D) TGS FGRTY

Which of the following is not a method of in-situ conservation of biodiversity ?

(A) Botanical Garden (B) Biosphere Reserve

(©) Sacred Grove (D)  Wildlife Sanctuary

LE |-13010-s5/60)
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43.

44.

gelteh T i Sien &
@A) R iy sam o

(C) e I I

Hoolock Gibbon is found in
(A) Gir National Park

(C) Corbett National Park

TeIeT QREIHT HT E 2

(A) G HT

©) P

What is Antilope cervicapra ?
(A) Vulnerable species
(C) Extinct species

(B)

(D)

®)

(D)

®)

(D)

B)

(D)

Tz TR g H guEs Aeaa §

(B)

D)

Species listed in Red Data Book are

(A) Vulnerable

1S5 Endangered

(B)

(D)

[119]

IR T 3 |

HISTRT g&fl 7R |

Hazaribagh National Park

Kaziranga Bird Sanctuary

Gehe U USTId

TR w9 & Gheua Tog

Endangered species

Critically endangered species

EE,'

T |t

Threatened

All of these

3010-(s5/60)
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46.

47.

48.

‘e EReq0T feerq’ AT ST §

A) 3 TR Al

€) 26 RE=R =i

@) 29 fewmar @

(D) 5 I

'World Conservation Day' is observed on

(A) 3rd December

© 26th December

(B) 29th December

(D) 5th June

T B uigem qun wioredt Y WER {RAT S0 31ege weerdl ©

A) QTS

(C)  SHIEAETEATST

Study of interaction of antigen-and antibodies in the blood is called

(A) Serology

(C) Cryobiology

F5 T Tohaeh HROT BT § 2

(A)  TMV §RT

(C) HEHERRIT T
Leprosy is caused by

(A) TMV

(C) Mycobacterium

(B) | s

(D)~ Usieneirst

(B) Haematology

(D)" * Angiology

(B)  TIeHHGT §RT
(D) HFTEReT gry
(B) Salmonelia

(D)  Monocystis

[119]

| E |— 3010-(ss/60y

Previous Pathshala

Page lm



49.

50.

[119]
Frmiferd B @ -1 faom ST 0 6 U el § 2
(A)  USH 91 Aifelerd B) T q
(C) W T TFHITE (D) SIel Wl T &R

Which of the following is a pair of viral diseases ?
(A) AIDS and Syphilis

(B) Measles and Rabies

(C) Tetanus and Typhoid

(D) Whooping cough and Tuberculosis

FTH TAaiRIEE T T R ¥
A) T . B T
) T H (D) &7 -STeT

Carbon monoxide is a major-pollutant of
(A) Air : (B) Soil
(C)  Water (D)  Air and Water

TR B © 9 g 3TedT UEed sar § 2

(A)  DDT (B) URT

(©) (A) 3 (B) JFT D)  so,
Which of the following exhibits biomagnification ?

(A) DDT (B) Mercury
(C) Both (A) and (B) (D) 802

————

E |-13010-(55/60)
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S3.

54.

ezt wgwes % wa whagpet woe w1 aRomy &

[119]

(A). &7 QT (B)  Uifert
(C) rwerfw (D) S Seaferd
The most adverse effect of radioactive pollutant is
(A)  Tuberculosis (B)  Polio
(&3] Hepatitis (D) Gene mutation
WA &
(&) = wdere qReH B) TEuHEES AREH
(C) SRUIRREH HRGH (D) 22T TR ARG
Heroin ‘is
(A) Monoacetyl morphine (B) Triacetyl morphine
(&) Diacetyl morphine (D) Tetra-acetyl morphine
SYeiiadTzare a1 TIAN IR Ueh &l ol & & o7 ot oTram @
(A)  ZTEIEE (B) =AY
(C) wearEd (D) TRR™
Both deoxyribose and ribose belong to same class of sugars called
(A)  Trioses (B)  Pentoses
(C)  Hexoses (D)  Heptoses

[E |- 3010-(55/60)
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55.

56.

(119]
M%mﬁwﬁmm?@mm% 4

. ﬁ;,@am AR
(A) IR HIZhIERIT gRI (B) LS

(C) U HIGHIGRIT FRT D) SRR A

" Nucleotide arrangement in DNA can be seen by

(A)  Electron microscope (B)  X-ray crystallogr aphy

(C)  Light microscope (D)  Ultracentrifuge

9 ST & U foer g @ 82°-90°C W L@ ¥,

(A)  IH W R TS Tal G

(B)  THHI [GHUSEH &l ST & -
(C) I% 39 @ gwel | fovifed &t srar &

(D) Fe HANTAT oS3 ST &

If an isolated piece of DNA is kept at 82°-90°C, then

(A) there is no effect on it (B) it uncojlg

(C) it divides into one million pieces (D) chanee. .
ges Into RNA

E |- [3010-ss760] ——————u_
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[119]

S T e T g @ 3 T, T e €
() Togmied B gwed
(©  uhied () wgaied
When carpel is attached together with Gynoecium it is called as
(A)  Apocarpous (B)  Syncarpous
(C)  Monocarpellary (D)  Multicarpellary
58. W H IE I SERT BNl §
(A) G‘i|5”0_! EA (B) ehdeh gl
(€  fosmop g @) FHEEw
In humans, ringworm disease is caused by
(A) Bacteria | (B) Fungi
(C) Viruses (D) Worms
59. UgH foeo] & B CINE DR
(A) T FeloEl ST (B) TS FeieHl ARTTT
© fegpefert S D) Trchefert smag
Genetic material of AIDS virus is
(A) . Single stranded DNA (B)  Single stranded RNA
(©) Double stranded DNA (D) Double stranded RNA

LE |— 3010-(s5/60)
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61.

62.

fry 1 @ -G A R FRAT § 2

(A) RS B) EHH™E
€ (a) R (B) IH D) AR
Which of the following does nitrogen fixation ?
(A) Rhizobium (B) Pseudomonas
(C)  Both (A) and (B) ‘ (D) Yeast
BHaT & T
(A) ST SERE (B)~ wicsia
(C)  STem] GHRE (D). (B)#IR (C) I

Frankia is a

(A) Biofertilizer (B) Antibiotic

(C) Group of bacteria (D) Both (B) and (C)
TR ST T IR &

@A) 3T : (B)  ARTHRAT

©  (a) R (B) T (D) g

An example of xerophytic adaptation is

(A)  Agave (B) Opuntia

(C)  Both (A) and (B) (D) Trapa

E |-13010-(ss/60)
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63.

64. .

65.

ANTHIE T &
(A)  STeRfed

(C)  (A) 3R (B) IAT

Lithosphere is
(A) Lifeless

(C)  Both (A) and (B)

g foray Gefid ¥ 2

(A) ¥ 9HE W T8
(C)  FeRIOT
Emasculation is related to

(A) Mass selection

(C) Hybridization

ffafer st STAIfTaT &
(A)  GRer & fol
.(C) e & el

Mimicry is useful for
(A) Protection

(C) Predation

B) A A TR

(D) Sarea

(B) Naked rocky regions

(D)  Algal

(B) Sl oI

() I

(B) Clonal selection
(D) Pure line

B) B & fou

(D)  (A) 3R (C) JHT
(B)  Concealment

(D)  Both (A) and ()

1119 ]

E | —13010-(55/60)

Previous Pathshala

—_
Page 25 of 32



67.

68.

FaFTel U et 69 €
) St e d @ el b - (B e T Qe Y ST b A
(C) JIaTe U FAE & S (D) Gﬁarqami‘amﬂlﬁgaﬁﬂ

Mycorrhiza is a symbiotic association between

(A)  Algac and roots of plants (B) Fungi and roots of plants

(C) Algae and Fungi (D)  Bacteria and Viruses

qree ST Bl €

Mutualism occurs between

(A) E. coli and human _ (B) Butterfly and flower

(C)  Zoochlorellae and Hydra (D) Hermit crab and Sea anemone
STt st &1 pH A B &

A 569 B) 61

© 659 O 7

pH of acid rain is below
(A) 56 (B) 6

S D) 7

E |-13010-(ss/60)
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69.

70.

W2k iRl IRT g &

(A} - SO,, PAN @@l g

(B) SO, PAN T4 AEZMEA & AFdESH
(€  SO,,CO, T FEZFH

(D) O, SO, T BIEZGIHIEA

Photochemical smog consists of

(A) SO, , PAN and smoke
(B) SO ,, PAN and oxides of nitrogen
(C) S0,, CO, and hydrocarbon

(D) 0,, S0, and hydrocarbon

St o S e £ A ¢
() FTEgE H - (B
-

() gsheterl el (D)

Capacitation is a natural process occurs in

(119 ]

el S99 901 9

N7 SAfeAeRT H

—————

(A) Epididymis (B)  Female reproductive tract
(C)  Vas deferens (D)  Rete testis
E |- 13010-(s5/60)
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[119]

@vg - 4 / SECTION - B

g LR Short Answer Type Questions

v WG 1§ 20 7g s § | frf 10 WAt @ I § | 9w & [0 2 F

frafa & : 10 x 2 = 20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question

carries 2 marks : 10 x 2=20

T @l AT = g € 2 2
What do you understand by Food-chain ?

itehd T & ATSTeh T A9 To1d :

2
(a) FHEA  (b) HARA (¢ FEFET (@) TSR
Name the pathogen of the following diseases : '
(a) Amoebiasis (b) 'Malaria (c) Pneumonia (d) Ascariasis.
TR a1 TR i AT et §RT gt 6t 5
Define stamen and pistil with the help of labelled diagram.
T ST IR U & dge A ford | ,
Write the scientific names of four sugar producing plants.
oferifas a4r ST 3 W | ,

Differentiate between the antibiotic and interferon,

s \
E |- {3010-ss5/60)
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0.

11.

12.

A fafmg A sng g guga & 2

.

What do you understand by crossing over ?

Frsiifena @ et amitad faa g qend -
(@) T hIfereRT ferqiot bl Herthel el

(b)  Sflaw] iferes 3 fgferaus

Show the following with the help of well-labelled diagram/sketch only :

(a) Metaphase stage of Mitosis cell division

(b) Binary fission in Bacterial cell.

drges-ufaRdl dhar g 2 98T o W5 e

What is pest resistant plant ?-Explain in brief with the help of example.

T FI9 W Y I FHHAS & 2

What do you mean by Gene pool ?‘

HTER qu1 FERT e 7 S o |

Distinguish between the divergent an'd convergent evolution.
T 9T T Uehicieh! sl IUGh IERXUT Higd TR & |
Define buds and bulbils with the help of suitable examples.

ey vsred F1 & 2 Tl 2t e A ferd )

What is restriction enzyme ? Name any two of them.

1 119]
2
1+1=2
1+1=2
2

2
,l+1:2
1+ 1.=2

|0 o 3010-(s5/60)
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13

14

16.

18.

19.

20.

miorEl # e EgIRer 3[her W us feugof) ford |

Write a note on practical adaptation jn animals.

RT3 T e § 2 b o) fafial & A o

What do you understand by sterilization ? Name any two methods.

I 1 30T yaferan eht afRia o |
Define co-dominance and incomplete dominance.
T H fert <t oty fowRt & 9 aar |

Name any two chromosomal disorders in humans.

fafyye WehR & ARTAT & A9 a4 |

Name the different types of RNAs.
T 1 GRS &Y T 59 Qo Sl o A9 S |

Define the operon and name its constituent genes.
fAiferet st RIS &Y

(a) FATT A

(b)  TTSSRI-ZTRT

Define the following :

(a) Cloning site
(b) Micro-injection.
o fpuee] @A FEAEUST H STETVT kA S |

Explain binary fission

[119]

1+1=2

I1+1=2

1+1=2

and multiple fission with the help of examples.

S

| E |— 3010-(55/60)

Previous Pathshala

Page 30 of 32



(119 ]

Y IA0T W9 / Long Answer Type Questions

m#@zz#zsa?a‘.aaﬁvm#i%ﬁswﬁ%ma“/miﬁw

5 3F [AYiRa &1 3¢ sifirwaw 120 Vil & g @Y1 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks. Give your answer in about 120 words. 3x5=15
21, T IR A T FI1 THIA © > S v R TR @ Mg 1 I9 g @ 7

22,

28

1+4=5

What do you mean by biofertilizer ? How do biofertilizers increase soil fertility ?

digeh YU FM & 2 Uehishdl Uigs TOYH ¥ ST T FHA € 7 1+4=5

What is pest management ? What do/you understand by integrated pest

management ?

fr=ifeRd 1 v Y ¢ 2 %2

N[
Il
[6)

(a) memmﬁﬁzﬁmﬁﬁm

(b)  TEeEH qer Wi i FEn |

Describe the following :
(a) DNA structure proposed by Watson and Crick

(b) Meselson and Stahl experiment.

g w1 ersfeas @ F v H 5

Describe the lytic cycle of Bacteriophage.

[E ]-[3010-(s5/60) Page 31 of 32
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E [119]
25.  FET I 68wt § 2 Hh-qices w a0 1+4=5

What is an artificial ecosystem ? Describe an agro-ecosystem.

267 Fifed W femof feg 2x23=5
(@)  SAFERERT: dvifua waer Y o § BT E 2
J,b‘)/ HHS gig g |

Write short notes on the following :
(a) How are genetically modified crops.useful 3

(b) Human growth hormone.

—
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